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51. Which of the following alternatives is the correct passive form of the given sentence ?
The little girl gave the Prince a bag of seeds.
(a)  The little girl was given a bag of seeds to the Prince.
(b)  The Prince was given a bag of seeds by the little girl.
(¢} A bag of seeds was given to the Prince by the little girl.
(d) The Prince gave the little girl a bag of seeds.
Answer options :
(1) (a) and {b) only (2) (byand (c) only
(3) (¢) and (d) only (4) (a)and (d) only
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Pick out the correct sentence in which the clause underlined is replaced correctly.
The umbrella which has a broken handle is mine.

{a} The umbrella with a broken handle is mine.

(b) The umbrella whose handle is broken is mine.
(c) A broken handle umbrella is mine.

(d) The umbrella’s handle broken is mine.

Answer options :

(1) (@) only @) () only
(3) (c) and (d) only (4) (c)only

53.

Fill in the blank with the correct alternative :
“We can harbour no and thats important today to remember’.
(1) illusions (2) allusions (3) collision (4) iHusiveness

54.

Identify the meaning of the underlined part from the list given below.
There is no cut and dried formula for success in life.

(1) agressive formula (2) ready-made formula

(3) easy formula (4) cut and short formula

55.

Arrange the words in correct order :
Everything she knows in the village

A B C D
(ay ADCB () BCDA (¢ BCAD (dd DABC
Answer options :
(1} (a)and (d) only (2) (b)only
@) (0 only (4) (d) only

56.

The bohemian king having them under his thumb compelled them to go at his pace.
(1) saying no all the time (2) completely under some one’s control
(3) getting victory all the time (4) None of these

57.

[dentify the underlined clause.

The watch which has a_golden chain is mine”

(1) Noun clause (2) Adverb clause

(3) Adjective clause ' (4) Declarative clause
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58. Identify the type of pronoun in the following sentence.
Akbar punished himself.
(a) demonstrative (b) relative (c) reflexive {d} emphatic
Answer options :
(1) (2) and () only (2) (b only
(3) (c) only (4) (c) and (d) only
59. After the movie was over, we went out for tea, the underlined clause is
(1) Noun clause (2) Adverb clause
(3) Adjective clause (4) None of these
60. Choose the correct meaning of the underlined idiom.
A fair weather friend will never stand by you in difficulty.
(1) a good looking friend {2) a selfish friend
(3) a good natured friend (4) a courageous friend
61. Identify the correct meaning of the word underlined in the given context.
He bowed down to the idol in the temple.
{a} to bend down (b) to express thanks
(c) to curve down (d) none of the above
Answer options :
(1) (a) only (2} (b) and {(c) only
(3) (@) only (4) (9 only
62. Choose the correct word in place of the underlined part in the sentence.
Every Indian citizen living in India must regard himself as inseparable part of India.
(1) prosand cons (2} partand parcel (3) heartand soul (4) kith and kin
63. Pick out the sentence which has been written in the past perfect continuous tense.
(a) We had been singing a song. (b) We had sung a song.
(c) We have been singing a song,. {d) We had been sung a song.
Answer options :
(1) (a) only (2) (byonly (3) (c)only (4) (b) and (d) only
64. Insert the appropriate punctuation marks in the following sentence.

Iwokeup| ]Igotoutofbed[ ]

@ )0 ®) ()0 @ 00 @ 0
Answer options :

(1)  (a) only (2) (b)only

(3) (a) and (c) only (4) (b) and (d) only
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65. Identify the odd pair(s) from the following :
(a) Dbegin - raise (b) comfort - relief
{¢) beautiful - handsome (d) cheap - chief
Answer options :
(1) (a) only (2) (b) and (c) only
(3) (a) and (d) only (4) {c) only
66. Choose the correct indirect narration of the following.
Dhiraj said, “Let’s finish our homework”.
(1) Dhiraj said that they will finish their homework.
(2) Dhiraj proposed that they should finish their homework.
(3) Dhiraj suggested that we should finish our homework.
(4) Dhiraj said finish their homework.
67. Choose the adjective form of the word ‘CENSOR’.
(1) Censoring (2) Censorial (3) to censor (4) Censorship
68. The word bureaucracy means :
(a) Government by the rich (b) Government by the nobles
(c) Government by the officials (d) Government by the learned people
Answer options :
(1) (a) only (2) (9 only
(3) (a)and (b) only (4) (b) and (d) only
69. Identify the mood of the following sentence.
“God bless you !”
'(1y .Subjective (2) Imperative, (3) .Indicative - (4) . None of these . .-
70. Select the most appropriate word to complete the sentence meaningfully.

A mother feels for her baby.

(a) affection (b) fondness (c) attachment (d) esteem
Answer options :

(1) (a) and (b) only (2) (a) only

(3) (d) only (4) (a), (b) and (c) only
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71. Mohan has experienced changes in fortune in his business.
Replace the underlined part by choosing the correct idiom given below.
(1) The ins and outs (2) Ups and downs (3) Ranks and Files (4) Fits and staris
72.  What type of noun is the underlinred word ?
His sight is keen. :
(a} common (b) abstract (c) material (d) collective
Answer options :
(1) () only () (d)only
{3y (b)only (4) (d) and (c) only
73. Choose the correct meaning for the idiomatic expression.
To paint the town red.
(1) To cause an uproar by noisy Merry Making
(2) To preach communism all over the town
(3) To colour the town with red paint
(4) To eat ‘Pan’ and spit all over the place
74. ldentify the type of clause underlined in the following sentence.
Even if ] fail. Ishall not give up hope.
(1) Adverb clause of reason (2) Adverb clause of result
(3) Adverb clause of condition (4) Adverb clause of concession
75. Which of the given alternatives can be used as a suffix to form the noun of the given word
inspire ?
(a) _ation {(b) _ion (c} _ing (dy _r
Answer options : . '
(1) () only (2) (v) only
(3)  (c}only (4) (a) and (d) only
76. lIdentify the type of sentence given below.

Though Tuntun was fat, she danced well.
(1)  Simple sentence (2) Compound sentence

(3) Complex sentence (4) Complex compound sentence
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Spot the error in the following sentence.
A man knock down here by bus vesterdav

(a) (b) () (d)
Answer options :
(1) (a) only (2) (b)only (3) (c)and (d) only (4) No error

78.

Identify the word(s) spelt correctly.

(a) Dbelive (b} achieve (c) diseaze (d} Dbelieve
Answer Options :

(1) (a) only (2) (b) and (d) only

(3} (a) and (c) only (4) (a), (b) and (c) only

79.

Choose the idiom which is nearest in meaning to the word underlined.
Shri Bhagatsingh was a patriot completely.
(1) out and out (2) by the by (3) byandby (4) over and above

80.

Choose the word synonymous to the italicized part.
I wrote to him as lately as last week.

(a) immediately (b) early (c} recently (d) late
Answer options :

(1) (a) and (c) only (2} (b)only

(3)  (c) only (4) (d) only

81.

Identify the misspelt word(s) from the following :

(a) repetition (b} plesant (c} permanant (d) interesting
Answer Options :

(1} (a) only (2) (a) and (b} only

(3) (b) and (c) only (4) (b), (¢} and (d) only

82.

The word ‘man” has the following meanings :

(a) The human species (b) Males of the human species
(c)  Adult males of the human species

Answer options :

(1) All (a), (b), (c) are wrong (2) Only (a) and (b) are correct

(3) All (a), (b), (c) are correct (4) Only (c) and (b) are correct
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Choose an appropriate question - tag to the following sentence.
Give me the book.

(1) Give me the book, wont you ?

(2}  Give me the book, will you ?

(3) Give me the book, don't you ?

(4} Give me the book, did you ?

84.

Which one of the following sentences is grammatically unacceptable.
(a) He saw Sachin two weeks ago. (b) We have played yesterday.

(¢} He often met me in a college. (d) He used to swim every morning,
Answer options :
(1} (a) only (2)  (b) only (3) (a) and {c) only (4) (d)only

85.

Identify the correct form of the sentence joined by “hardly — when” from the following.
Gulliver lay down on the grass. Soon he fell asleep.

(1) Hardly Gulliver lay down on the grass, he fell asleep.

(2) Hardly had Gulliver lain down on the grass when he fell asleep.

(3) Hardly when Gulliver lain down on the grass he fell asleep.

(4) Hardly did Gulliver lain down on the grass when he fell asleep.

86.

Identify the correct sentence in its grammatical order.
(1} India will win the match definitely.
(2) India definitely will win the match.
(3} India will definitely win the match.
(4)  Definitely India will win the match.

87.

Identify the incorrect sentence(s) from the following.

(a) Dhira polishes shoes (b}  The cow is giving milk everyday
{c) Istudy everyday {d) The sun rises in the east

Answer options :

(1) () only , (2) (b)only

(3) (a)and (c) only (4) (d) only

88.

Which of the following gives the correct meaning of the underlined phrase.
This part is not a bed of roses.

(1) quite well (2) easy and comfortable

(3) happy and joyful (4) rich and comfortable

HoAT HIMATS AT /SPACE FOR ROUGH WORK
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89. Identify the type of mood expressed in the following sentence.
I wish I knew his name.
(a) unreal fact (b) improbability (c) entreaty (d) statement
Answer options :
(1) (a) only (2) ()and (c)only (3) {(cyonly (4) (b)and (d)only

90. Pick out the wrong sentence.
(a) Mumbai is one of the richest towns in India.
{b) Mumbai is richer than most other towns in India.
(c) Very few towns in India are as rich as Mumbai.
(d) No other town in India is as rich as Mumbai.
Answer options : ‘
(1) (a) and (c) only (2) (b)only
(3) (d) only (4) (b)and (c) only

91. What is the adjective form of the given verb ?

educate

(a) education (b} educative (¢} educational (d) educable
Answer options :

(1) (b) and (d) only {2) (b) and (c) only

(3} (c) and (d) only (4) (b), (c} and (d) only

92. What is the meaning of the underlined phrase ?
The horse made the bee - line for home.
(1) stood in a queue in front of home
(2) moved swiftly like a bee
(3) went directly towards

(4) went zigzag like a bee.

93. Sonu is sitting the fire.
Complete the sentence choosing the correct word from the following.
(a) Dbesides (b) beside (c) from (d) with
Answer options :
(1) () only (2)  (b) only
(3) {b) and (d) only (4) (c) only

FHEAT RS AR /SPACE FOR ROUGH WORK
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94, Complete the sentence choosing the correct word.

It is a very spacious for constructing a nursing home.

(a) site (b) cite (c) sight {(d) saite
Answer options :

(1) () only (2) (b) only

(3) (c) only (4) (a) and (d) only

95. Complete the following sentence choosing the correct preposition.

Mary has been ill vesterday morning.

(a) since (b) from (c) for (d) by
Answer options :

(1} (a) only (2) (a) and (b) only

(3) () and (d) only (4) (b)only

Read the following passage carefully and answer the questions given below.

One day, the king came to the court and began attending to the routine matters people
had brought to him. He happened to be in a bad mood that day. Just then, a messenger arrived
out of breath, with a message that the queen wanted to see the king in her palace. The king rose
immediately and all the courtiers respectfully got to their feet. The jester however remained
seated unaware that the king was departing. e belatedly got to his feet but while doing so, he
was noticed by the king who perceived his behaviour as an insult. He ordered the jester to leave
his kingdom with immediate effect and not set foot on its soil under penalty of death. The
courtiers were upset and protested. The jester was amusing and well liked. But the jester
obeyed the king’s commands and left the palace promptly. Several months passed after the
king had ordered the jester to leave his court. The king’s anger has subsided. He decided to
invite the jester to return to his court. Messengers were sent to neighbouring kingdoms to
search for the jester and bring him before the king.

However, the very next day, when the king was standing in one of the palace balconies,
he saw a horse carriage pass outside the palace. He glanced at the carriage out of curiosity and
spied the jester sitting inside. The carriage was stopped. The king asked the jester angrily,
“Why have you come back to the kingdom without my permission ?” “Your Majesty”, the
jester replied politely, “T left for China the day you drove me out your court. [ returned only
after I had covered the floor of my carriage with the soil of the neighbouring country. I have
thus not set my foot on your soil. “The king found the jester’s answer pleasing. He smiled and
asked him to come to court from the next morning.

HEAT HIATHE AN /SPACE FOR ROUGH WORK
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96. The jester remained seated while the king was leaving because . _
(a) to get the king’s attention.
(b)  he didn't realise that the king was leaving.
(c) to show the king that leaving early was insulting to those who had come to the
court.
(d) he was distracted by the queen’s messenger.
Answer options :
(1) both (a) and (d) only (2) both (a) and (b} only
(3)  both (b) and (c) only (4) (b)only
97. Choose the word which is most similar in meaning to the word underlined as used in the
passage.
SPIED
(1) Watched (2) Stared (3) Gazed (4) Noticed
98. Which of the following statements are TRUE in the context of passage ?
(a) The king was stubborn and never listened to his courtier’s advice.
(b} The jester was quick witted and had many friends.
{(c)  The jester did not return to the court till the king requested him to.
(d) The king’s messengers did not try to find the jester.
Answer options :
(1) (a) only (2)  both (a) and (b) only
(3}  both (c) and (d) only 4) (d) only
99. The king left the court suddenly one day because -
(a) he was bored as the work was routine.
{b} he realised that he had forgotten to meet queen that day.
(c) he was upset that day.
(d} he was angry as the jester did not pay him due respect.
Answer options :
(1) {a) and (c} only (2) (b)only
(3) (d) only (4) (b), (c} and (d) only
100. Choose the word which is most opposite in meaning to the word given below as used in

the passage.

Promptly
(1) Unwillingly (2) immediately (3) sorrowfully (4) lately

HeeAT HIUTETSH 9T /SPACE FOR ROUGH WORK
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101. @87 FAfSF 2012 7E WRAE WargA! fohdl ‘to7d 9aeh ' yemhmEel ?

(1) TH (2) TH (3) A (4) W

In the London Olympics 2012, how many ‘silver medals” were won by the Indian
players ?

(1) One (2) Two (3)  Three (4) Five

102, TH. AMA.F. TSH Heuld TE@tht HIvial FRET IHaR 2013 T 95 STREw (AIR)
& THIE hel hd 3778 ?
(1) 9o o (2) Topet g2 foett <Tere
(3) Haie 9o (4) AT ML

Which of the following programmes related to HIV-AIDS is being broadcast from
January 2013 in Maharashtra on All India Radio (AIR) for awakening the people ?

(1) Bubliche Bol (2) Kiti Door Kiti Jawal
(3)  Antariche Bol {4) None of these
103. HERI YMEATE Hdl Heagd [WeR 2010-11 81 I ‘5@ I% 3@ @’ ar
TEIHTHIS] 2UATd S L.
(1) &S wHige (2) FWIH &
(3) e faEgd (4) foom |

Maharashira Government’s “Kavi Keshavsut’ Award 2010-11 was given to
for his book named ‘Awaj Nashta Hot Nahi’.

(1)  Anil Kambali (2)  Ashok Dange
(3) Ganesh - Vispute {4} Vilas Sarang

104. Yeto fTaur= sra@me &0 7 99 yaigrE fae %4
() TEE 9 FOW adTe 9o 19 His ST,
() ‘Tl U gdren’ 9o §E AR RS 9 T99 TEN 3T
(1) T (1) TR A, (2) T (1) S IR,
(3} () = (II) TR AR, @ (I Ih
Consider the following statements and choose the correct alternative :
{I)  Kerala is the first state in India to ban ‘Gutka’ (& Tabacco product).
(II) Maharashtra is the first state in India to ban both ‘Gutka and Pan masala’.

Answer options :

(1)  Only (I} true (2} Only (II) true
(3)  Both (I) and (II) true (4) Both (I) and (II) false
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‘THhos faTHl Ifso® WEE @ AN SV SEHHIET E F0ATd ST SR 2
(1) FIgi=d S qerm susi A fago

(2) SigaTHl Hoi S ATy faa

(3) mfeaTE! gt us Weamr e

(4) STiCEE Goia Aiem e SHqd fage

‘Eklavya Residential Public School” scheme has been started for

(1) Education in English medium to the scheduled caste students

(2) Education in Marathi medium to the Tribal students

(3} Education in English medium to the Tribal students
(4) Education in their respective dialect to the Tribal students

106.

e e St faw e 9 W Hevi e faume e Fm.

() g T SAieifie fame ween’ fowfua Sui Wi S YRnegge geel va
FTH F.

(I ‘Hged U= sienfies faem e’ & geen fasuaie 9 sifaswfaa S =ien simfes
HROTEES Hool <ud S Fid.

o Fon faum/fau adet owa?
(1) F (0 (2) R (1])
3) OF @I (4) G et e AL

‘United Nations Industrial Development Organisation” (UNIDQO) is an organization for ?

(Il UNIDO provides advice to the developed countries on all aspects of industrial policy.

(II) UNIDO provides advice on all aspects of industrial policy to the developing and
underdeveloped countries.

Which of the following alternative is are correct ?

(1} (D) only (2) (1) only

(3) Both (I) and (II) (4)  Neither of the two

107. HESSH f9ator Sewdatd 3% 9 R TasT favn, qere Usy 91 ATk yed wigsarE]

VAR ERLE 2) 10, '@ fa7’

(3) 7, 'wmE '’ (4) 10, '¥@ &1’

In the state of Maharashtra the ___th of every month is celebrated as ’ ’
by the food and Civil Supply Department.

(1) 7, ‘Food Day’ (2) 10, ‘Food Day’

(3) 7, "Sugar Day’ (4) 10, ‘Sugar Day’

HEAT HIWTERT FOT /SPACE FOR ROUGH WORK
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108. G B AR Sura Ao ¢ fedige @ A SEE SR iR 2011 9E He
HTSUATE STTET 7

(1) & (2) &R (3) uEH (4) =

The "Litrozole’ drug banned in October 2011 was prescribed for which of the following
discases ?

(1) Cancer (2) T.B. (3) AIDS (4) SAARS

109. % THAN "AeEE] HIEd § hiE e 5%/ Afusn’ SrEE Sow 9 o) Hen?
1) 2011 (2) 2010 (3) 2008 (4) 2009

Since when is the Central Government implementing the Child’s Free and Compulsory
Education Right Act ?

(1} 2011 (2) 2010 (3) 2008 (4) 2009

110. Siedt Aiee faam SIUg SR 2012 948 #Id 9T I8t ?

(1) forsgdaqm (2) feeel
(3) @AY (4) HiEHE
In Januarv, 2012 where was the first women science congress organised ?
(1)  Thiruvananthapuram (2) Delhi
(3} Bhubaneshwar (4) Kolkata

111. HERrE T Um foam 55 siEag 9die ard WU AMI% A 3T,
(1) SIS STh BTG 3fedl (2) T A U G LS IfSAT
(3) anfheae afk = sfear (4) IR AR
Jayant Patil, Rural Development Minister of Maharashtra state is nominated as
(1) Icon of Rural India (2) The Iron Man of Rural India
(3)  Architect of Rural India (4) None of these

112. &% 15 AfF@Et 2012 Toi =1 zoar foray 9five =18 I vt 2
(1) dFS (2) W (3) cfew amfieet (4)  SA

Where was the IBSA Summit held on 15t October 2012 ?
(1)  Brazil {2) India (3)  South Africa (4) Japan

el HIHMEa A /SPACE FOR ROUGH WORK
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113. WA YRS <vard Juma * fod sidist’ e 1ia e o Ay saew
U 9 9 v e w0

(I) A7S! NgHT &9 Hierd F & wila Grer S anfsfeen o R fowr sl
(I} T JEERRTET M € 5,00,000 7R,

73Rl 3
(1) e (1) ST (2) W (ID) TR
(3) ()9 (I) ST R (4) T ISR G,

With reference to ‘Vinda Karandikar Life Time Achievement Award’ of the Government
of Maharashtra, consider the following statements and choose the correct alternative,

(I} This Award is given to those literary persons whose work in literature is most valuable
and constructive.

(I} The sum of award is ¥ 5,00,000/-

Answer options :

(1) Only Statement ([) is True (2)  Only Statement (II) is True
(3) Both the Statements are True (4) Both are false

114. 3TRER 2011 WEA YRAM [o9HiEq FIe SIS Gaid @ ‘Saoe ek TR’ =91 féHma
__ favifE *e EA
(1) ¥ 2000/- (2) T 1555/- 3y T 1236/- (4) T 2276/-
The cost at the time of launching of the world’s cheapest “Tablet Computer Akash’ developed
by India in October 2011 was .
(1) T 2000/- (2) T 1555/~ (3) T 1236/- (4) T 2276/-

115. TENREH ‘TR WS 9GS SV T A HBES S 2

(1) <foq a& gur de (2) 3feu 3= T

(3) TR fram ars (4) aMdmI A

What is the new name of the scheme ‘Swatantra Gharkul Yojana" in Maharashtra ?
(1) Dalit Vasti Sudhar Yojana (2} Indira Aawas Yojana

(3) Ramai Niwas Yojana {4) None of these

oAl SIMTETS! AT /SPACE FOR ROUGH WORK
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116. HERNE IMHAHST QUAR AU ToHIES o TAISEA Haidd 8. AideHt R 2010-11 2.
T T1IeEHT A IV GEARTHIST TN ST ?
(1) fafoog doe . '
(2) FE WA SOt
(3) TEH W9 IR IR
(4) <fiEArEt gee snfon fara

For which book Dr. Narendra Dabholkar won ‘Dr. Ambedkar, award 2010-11" related to
polity and sociology sponsored by the Government of Maharashtra ?

(1)  Timiratun Tejakade

(2) Bakhar Bhartiya Praptikarachi

(3} Baliche Rajya Yenar Aahe

(4) Daridrayachi Sankalpana aani Niwaran

117. ' sRfead 3 2012 qfze TG Adite fosid) gerg & ?

(1) e e (2) fewRifen =i

(3) S SEEE (4) EHeHH ForAcaE

Who is the winner of ‘Australian Open 2012 Womens Singles Championship’ ?
(1) Maria Sharapova (2) Victoria Azerinka

(3} Veera Jvonareva (4) Swetlana Kujentsova

118. 2011 =1 YHAT=H TEVALAR WA S Afgal wea 22 & o ?
(1)  65.46% (2) 74.04% (3) 67.40% (4) 66.08%

‘With reference to Census of India 2011 what is the literacy rate of women in India ?
(1) 65.46% (2) 74.04% (3) 67.40% (4) 66.08%

119. ST HIvwal FUST AiiaicashT=1 S food  werct Wt f’ O W g et §ier S
THdT Goar Tl 3T ?
(1) ER fagas 39 (2) Hfads Fgamw
(3) ThfeRmE (4) To= =&

Whose birth anniversary the Maharashtra Government has recently started celebrating
as Marathi Language Day ?

(1) Shahir Vitthal Umap (2) Kavishreshtha Kusumagraj
{3) Govindagraj (4) Vinda Karandikar

FHeedl hIATEST A /SPACE FOR ROUGH WORK
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120, SE.ELE et 3w T 39 12012 TEHR S Taigel Hare ) 7

(1) FUX ETHR (2) Toue =iEs
(3) @Iivm smen (4) offowel T
Who has been honoured with the 1.C.C. cricketer of the year award - 2012 ?
(1) Kumar Sangakara (2) Virat Kohali
(3) Hashim Amla (4) Alister Cook
121. WRWEEN 9 fade Theul TECET 3TTE.
(1) b (2) fedet @) e (4) AT

hills are lying along the north eastern border of Maharashtra.
(1) Darekasa (2} Chiroli (3) Gavilgad (4) Bhamragad

122. Q@] ST TG FERI Higdl FHOTEE ST €l 7
(a) I YRV T femr
(b) Y YW 9 WD
(c) W YW A TS
(d) TR 9 g
KRIBIETT
(1) W (a) (2)  (a) (b) F (d)
3 @9(@© @ @31
From which of the following states maximum migration takes place ?
(a) Uttar Pradesh and Bihar
(b) Andhra Pradesh and Kerala
() Madhya Pradesh and Punjab
(d) Gujarat and Haryana

Answer Options

(1) only (a) (2) (@), (b) and (d)
(3) (2) and (9 (4) (a) and (d)

HeeHT WIHTETS WM /SPACE FOR ROUGH WORK
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123, %Al Yae! TSURT STaTR 4o A= TN FTE R
(1) WRY-IW HeRg
(2) forest - g wwemrg
(3) eIy - ivey WeE
(4) THIEwO - iR RS

Mangoshowers at the end of the summer are confined to
Maharashtra.

(1) Khandesh - North Maharashtra
{2) Vidarbha - East Maharashtra
{3) Ghatmatha - West Maharashtra
(4) Konkan - South Maharashtra

region of

124. (Eio faum fa=ma .
(A) sRmae Hegw Ay wafd s foer o
(B) 3TaUeRt & 0 fawre fSeeais den 9 .
(C) & F AR faurdie et He saad o 10 41 fasmidan s TR,
(D) TR Hedo fauwa wieard w6t f9es .

s Taum/ faum wrow.
(1) ™ (A) (2) (A) 37 (B)
(3) (A), (B) & (C) (4) =

Consider the following statements :
(A) The maximum number of districts are in the Aurangabad Revenue division.

(B) The number of districts are equal in the divisions of Amravati and Pune.

(C) The number of districts of Konkan and Nagpur divisions are more than those of

Amravati and FPune.
(D) Nashik Revenue division has the least number of districts.
Which is/are the correct statement/statements ?
(1) Only (&) (2) (A)and (B)
(3) (A), (B) and (C) (4) Al

THEAT HIHTHATST W /SPACE FOR ROUGH WORK




A 27 BO2

125. 'TOR ¥ TR Goiels! HYRT Gait o1 ?

(1) wH s T €

(2) HHTE ITERFRES UR fFAeTEE 99 9
(3) wE frArEle I@0

(4) FIFUNS A= ¥

What is the word ‘Khalati’ associated with ?
(1) Sand bars on Kokan coastal of land
(2) Western Coastal Plain area of Kokan
(3) Beach on Kokan coast

{4} Rice field in Kokan

126, S @&
fawmr el == @)
(a) ¥ ) 400
(b) TG () 200
(c) wEqare! (i) 260
(d) Afesm (iv) 180
(@ () (o ()
1)y Gv) () @ ()
2y @ @) @) ()
(3} (v) @) @) ()
(4) (O (@v) () (i)
Match the following :
Place Average Rainfall (c.m.)
(a) Mumbai (i) 400
(b) Ratnagiri (i) 200
{¢) Savantwadi (iii) 260
(d) Alibag {ivy 180

(@ (b) () (d)

1) Gv) (i) @) @)
(2 @ @) @) ()
@) Gv) (@) @) @)

@ @ @v) @) ()
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A& o R0 1] TR FSTHOI oo Seq TR HR :

(1) ¥ Youm e BHHE YHE! .

(2) I YA TEUIR @i qo SATfEa SR,

(3) TP Afus TN TEY FEYG SFEEA FATEH SAFHS Aol 9 AR
(4) T IRIET GHTSSETE ST AiEe T9e AR,

Central and Southern Konkan regions have relatively higher sex ratio because :
(1) These regions are dominated by tribal population.
(2) People inhabiting these regions are relatively illiterate.

(3) Relatively higher proportion of male working population has outmigrated towards
industrial areas.

(4) The social life in these regions is generally female dominated.

128. TS faumisr fa=m 1.
(A) TSI GHIOT IEHEST A TR S HA] B .
(B) USITR WHIUT g Hed HERISTRS HHI 2 Wi,
FIA/ FI fauE/ faum o9 #ed ?
(1) e (A) (2) R (B)
(3) (A) T (B) Tt (4) TR
Consider the following statements :
(A) The amount of rainfall decreases from West to the centre of Maharashtra.
(B) The amount of rainfall decreases from East to the centre of Maharashtra.
Which statement/statements is/are correct ?
(1) Only (A) (2) Only (B)
(3) Both (A) and (B) (4) None of these
129. Sim-gul g Swm Tenen STl GRS "I el JeTere VAT,
(1) g=met (2)  wmorfEa (3) W (4) qui

After the confluence of Painganga - Wardha and Vainganga, the combined flow of river
is known as

(1} Indravati (2) Pranhita (3) Manjara {4) Purna

oA HIFTETS! 91T /SPACE FOR ROUGH WORK
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130. @ fagvla fovma: w5 3 mefade faeea FH Saen @ed o8 Jeq aueTdl SEadd

FHR ;

(a) T TG ST Biehi=ar AT 3R,

(b) TSI WHTOT U] YSUTE SIRA TR,

(©) Y=® Tae FH Gieer R,

(d) TR FOARTST HIGT He[l [LFST S,

TUGTHRT B0 FHIT Fehal RO SRS 37T ?

(1) () () (a7 (b) G) © 7 (@) wd FT

In Eastern Vidharbha especially in Chandrapur and Gadchiroli districts small hamlets
with little spacing are found because :

(a) In this region tribal settlements are found.

(b)  This region is having high amount of rainfall.

(c) Ground water table is shallow.

(d) Rice cultivation requires intensive labour supply.
Which of the above reasons are correct ?

(1) Only (a) (2) (a) and (b) (3) (¢} and (d) (4) All four

131. wfeat STTUHR F79<1, 2005 =47 TS 1] TR0, oot SHivTd Sl g gasar snftr qferadanat
geqfad HSSt AT 2
(1) ¥ afaareaT §yie a9 Fdy faum
(2) 31 HwEA FR
(3) UK guiET &g
(4) VeHw Hathal YASAA

Which of the following is not an Intelligence and Security Organisation established by the
Central Government as per schedule IT of the Right to Information Act, 2005 ?

(1) Research Analysis wing of the Cabinet Secretariat

(2)  Aviation Research Centre
(3) National Research Centre
(

4) Directorate of Revenue Intelligence

HEAT HITHETST JACM /SPACE FOR ROUGH WORK
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132, Tifedt AMMFR FECIER TR Tiied Tvare ThR S0 fhen SN[ oo gaidl f&ar oo
e fesnye weom) wifedt fovary &/ g8 o ?
(1) <6131 39 (2) UEEE gl w9
(3) T BR ®Ud (4) TF TE

What is the total penalty for malafidely denying the request for information or knowingly
giving incorrect, incomplete or misleading information under the Right to Information

Act ?
(1) Ten Thousand Rupees (2) Twenty Five Thousand Rupees
(3}  Fifty Thousand Rupees (4) One Lakh/Lac Rupees

133, YHAT® Foed! T FAUeH JIRATE IFaTel Wigd] AhR=E HEc &% 91 AA0W
AT 7

(1) W EHEE (2) TR (3) &l (4)  HEH

Which is the first state in India, to successfully enact the Right to Information Act, as a
state legislation ?

(1) Tamilnadu (2) Maharashtra  (3) Karnataka (4) Assam

134, Aifedt=n sifsrr arfufm 2005 =0 #en 7 89R Afaodl mifedl ST TErRn saswdre =i

qfavaTs FUTRRE A

(1) 244d9 (2) 384dH (3) 4899 (4) 60 4d™

As per section 7 of the Right to Information Act, 2005, if the information sought, is
concerning life or liberty of a person, the same shall be provided within hours
of the receipt of the request.

{1} 24 Hours (2) 38 Hours (3) 48 Hours (4) 60 Hours

135. AfgdrEn @fusn sftufra, 2005 94 GEedH! Hod Fou fuafid Fearen &9 §d
feamit 3faeE o ?
(1) %29 -3 (2) A - 4 (1) (3) w@W - 12 (4) FoH - 13

Which of the following Sections under the Right to Information Act, 2005 came into force
on the one hundred and twentteth day of its enactment ?

(1)  Section - 3 (2) Section-4 (1) (3} Section - 12 (4) Section - 13

oAl HIMTETS ST /SPACE FOR ROUGH WORK
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136. 1857 =1 HeNI=l TEIEEA (Hdlel Ha9e TS T 8 Foes THY 91 Aegal. A1 TH HEM
YIS 35 211 & AMHS WA ST T@d SO 950 e 3§ wh{oe ded ?
(1) et CEG (2) oI HEw
(3) d e (4) oria HEal
There could be many differences about the 1857 riots however this was not an Army’s

Riot alone, it was a great social explosion. Due to this Indian social structure was changed”
who thought so ?

(1) Firozsha Mehata (2) Ashok Mehata
(3) Jayant Mehata (4) Amit Mehata

137, NaKiTe faenedl aaeifee o e Ao S HHIS GHRE $I0) gd ?
(a) I B
(b) YT G WS
(c} i IEERY AWSH
(d) FHIR WA TS

T W
(1) % (b)F (d) (2) F () 9 (d)
(3) WH (d) (4) K (b)

Which social reformer was regarded as the Father of the Students Hostels in India ?
(a) Mahatma Phule

(b) Chhatrapati Shahu Maharaj

(¢} Dr. Babasaheb Ambedkar

(d) Karmaveer Bhaurao Patil

Answer options

(1) Only (b) and (d) {2) Only (c) and (d}

(3) Only (d) (4) Only (b)
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138. Tofowr srerme waresi1 shiveat oevar Jifide ge ?
(A) TITUFRIE AT RIE]
(B) TSI QadHIT T T el 2Ta,
(C) THoE{ie o1 GLkRA dedmE.
(D) vafe ® gen 950 HEL

T 3
(1) (A) 30T (B) % (2)  (B) 3T (C) T
(3) (C) i (A) & (4) () enfon (D) ST

What were the demands of the Moderates to the British Government ?
(A) Enhance “Shetsara”

(B) Government should offer low interest loans to the farmers.

(C} Enhance tax on salt.

(D) To change the then prevailing tax system

Answer options

(1) (A) and (B) Wrong (2) (B) and (C) Right
(3) (C) and (A) Wrong (4) (C) and (D) Right
139. St oMl .
HHTH GICFLL
() ST (A) fovaageardt waT
(i) o T (B) TR vt U fodia =
(iii) W WS (C) THTIEG
(iv) TasimimEe Qe (D) TRHTAT Hal =q T
REIRIICE
(W) (i) - (A), (i) - (B), (i) - (C), (iv) - (D)
(2) (- (C), (ii) - (D), (i1} - (B), (iv) - (A)
(3) () - (D), {ii) - (C), (ifi) - (B), (iv) - (A)
4 @) -(B), @) - (A), (i} - (D), (iv) - (O)
Match the following :
Samaj Philosophy
(i)  Brahmo Samaj {A) Universal brotherhood
(iiy Arya Samaj (B} God does not write any book
(iiiy Prarthana Samaj (C) One God philosophy
(iv) Theosophical Society (D) God does not incarnate

Answer options

1) M- (A, () - (B), (i) - (C), (iv) - (D)
2) (1) - (Q) (i) - (D), (iid) - (B, (iv) - (A)
(3) (- (D), (@) - (Q), (it} - (B), (iv) - (A)
(4) (@ -(B) (i) - (A), (i) - (D), (iv) - (C)

FHeAT HIATATS WA /SPACE FOR ROUGH WORK
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IV G TRAT Wity wraad S WA dAlowel S 2

(1) 1861 3fead =R 3iw (2) 1909 TS-TH Yuron FwEET
(3) 1919 WY - FHHE FE 4) 1935 ¥ HEA -
Which Act is called Provincial Autonomy Act of India ?

(1) 1861 Indian High Court Act (2) 1909 Morley - Minto Reforms Act
(3) 1919 Montagu Chelmsford Act (4) Law of 1935

141.

T TAERT AEASHI NS TSR I

(1) wfepa feawiolt A, 73IE TEWE, FIBAH Gl §EwE, T8 FIK
(2) TS WCAE, Tl HIGX HEAIE, Sieshd fEawmvil w, 0 R
(3) wfepa feaswnolt 9w, Ferm Hic TR, HeTs 9oaws, IO &R
(4) IO FI, TETS WAWE, Sfewpd [GaERU W9, HBNH Hicl FAWE

Arrange chronologically the following incidences in the life of Dr. Baba Saheb Ambedkar :

(1) Bahishkrit Hitkarni Sabha, Mahad Satyagrah, Kalaram Mand1r Satyagrah Poona
Pact

(2) Mahad Satyagrah, Kalaram Mandir Satyagrah, Bahishkrit Hitkarni Sabha, Poona
Pact

(3) Bahishkrit Hitkarni Sabha, Kalaram Mandir Satyagrah, Mahad Satyagrah Poona
Pact

(4) Poona Pact, Mahad Satyagrah, Bahishkrit Hitkarni Sabha, Kalaram Mandlr
Satyagrah

142.

1876 T+, * Sfeem sEifgayA’ @1 Gedet e T, e [ FE A2
) fég @ Woew™ Frerm frsErEt yaa fEfo S,
(B) T} BiehHd W 9 HWHfed U,

143 9 HUoHM Fedd | T, C
(D) TG TDISA SIS e TS| HHIG HEA =, :
et 3 | |
(1) (A) FTfor (D) TF @ (B s (C) T
(3) TR (A)TF (4) W (C)FIR

What was the Indian Association established for in 1876 ?

(A) Create friendship between Hindus and Muslims.

(B) Awaken the people and organise the public opinion. ‘
(C) Create differences in Hindus and Muslims. ' AR
(D) To encompass all people in the political movement. '
Answer options

(1) (A} and (D) Wrong (2) (B} and (C) Right

(3) Only (A) Wrong (4) Only (C) Wrong

FHoAT HHEST W0 /SPACE FOR ROUGH WORK
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143, YEAI WEE 9= HSET 9 HE gl Srexr Jar ?

(i) I EEA (A) GERIETEMT Hed
() I (B) Trawm ferai wew
(iti) 9 FA (C) Faw=a ynf=n R
(iv) T e (D) fasran femia wea
et 3w

D ®-(A) ) - (B), (i) - (C), (iv) - (D)
(2) () -(D), (@) - (C), (itd) - (B), (iv) - (A)
() (®-®) ) - (A), (iiy) - (D), (iv) - (O)
@) () - (D) (i) - (©), (i) - (A), (iv) - (B)

Match the organizations and their work founded by Pandita Ramabai ?

{iy Sharda Sadan (A) Help to Famine affected people
(iiy Mukti Sadan (B) Help to Orphan Women

(iif} Kripa Sadan (C) Spreading Christianity

{iv) Ramabai Association (D) Help to Widows

Answer options

M @ -(A), @) - ®) ) - (C), (v) - (D)
) @ - D) @) -(C) (i1} - (B), (v) - (A)
(3} @ - (B), (i) - (A), (i) - (D), () - (O)
4} @ - (D) @) - (C), () - (A), (iv) - (B)

144. ¥ 1857 =0 seR ‘g U2 Fafoaq' & wew =i fofes ?

(1) fESHaEEt (2) TCAREEFE  (3) TWOEE

Who wrote the book “The Great Rebellion” on 1857 Revolt ?
(1) V.D. Savarkar (2) N.R. Phatak (3) SN. Sen

(4) I Weal

(4}  Ashok Mehta

AT HIATHTS W /SPACE FOR ROUGH WORK
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145. wfEedt ToHs YRYST fafeer SR v qen qrd @@t ?
(A) TegearE Wy aAfiaad aa,
(B) wewfud Hermard 9 giq S7for Hee [ Som TR,
(C) HII TR T WA hiFTHSH TAEeR TR,
(D) T3 TMedd aiig Ta@r ST =1,

TR 3EY
(1)  (B) =i (D) o+ (2)  (A) 31w (C) s
3y =lo gd g+ (4) @ T Fa

Which principles were acceded to by the British Government in the First Round Table
Conference ?

(A) Federal state will come into existence in Hindustan.

(B) In Federal state all province and princely state will not be included.
(C) Federal state’s Government will be responsible for Legislative Council.
(D) Round Table seminar will not be held in future.

Answer options

(1} (B) and (D) Wrong (2)  (A) and (C) Right

(3)  Above all Wrong {4) Above all Right

146. arY fq4r aer
(A) TF fadt Heem SAfaayd o1g 7890 18] Hed IS0 J2ghT Hig YHAm.

(B) TS hUTE TegHT HI NS wehand,
T S
(1)  FF (A) (2) % (B) (3) = (4) At RV TED

Choose the correct statement :

(A) The Governor can make ordinance only when Legislative Assembly is not in Session.
(B) The Governor can withdraw ordinance at any time.

Answer options

{1} Only (A) (2)  Only (B) (3) Both (4} None

oAl HIHTETST WM /SPACE FOR ROUGH WORK
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147. TI9TA0 Fod 14 FHemen Hfed o ?
(1) T AfHHR
(2) HIERTIS HEFA ST SwIge = e T4
(3) vvufaegen g
(4)y wifis @A SRR

Article 14 of the Constitution deals with :
(1) Right to freedom

(2)  Equality before law and equal protection of law
(3) Right against exploitation
(4) Right to freedom of religion
148. WEHEEY, A, HREH, 919 3 fawa FHore 9T Guias wvad ST $1ed ?
(1) o (2) T
(3) wmed g (4) e sHfyar
Items such as price control, newspapers, factories, electricity are included in which list ?
(1)  Union list (2) State list
(3) Concurrent list (4) Residuary powers

149, TWE® fau™ AW =1
(A) ST 301 Hudr=a AfgsreEn da6fug o,
(B) U areTUarEl SAfiewr g1 WU AR o vy JOT U e
(C) 44 = TRATGERT WRATE Te2d FaW 300 3 =0 Sfawia FIoam .
Titerishl hIvR Taem see 3N 4 @i,
(1) %= (B) (2) (B) = (C)
(3)  (A) 3 (C) (4) (&), (B), =T (C)

Consider the following statements :
(A) Article 301 pertains to Right to Property
(B) Right to Property is a legal right but not a Fundamental Right

(C)  Article 300 A was inserted in the Constitution of India by the 44" Constitutional
Amendment.

Which of the statements given above is/are correct ?
(1) (8 only ) (8 and (Q)
(3) (A)and (O) (4)  (A) (B), and (O)

FHeAT T/IFTHETST JHT /SPACE FOR ROUGH WORK
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150. Heli=l AT <ty goarare! fenmi A fhdt e ?
(1) 3599 (2) 3099
(3) 409 (4) FET= fRAE a1 R
What is the minimum age required to be a judge of the Supreme Court ?
(1) 35 years (2) 30 vears
(3) 40 years (4}  No minimum age limit
151. 18 AWEAS a1 A3, fwesm THR e e 3.
(1) =, iR 2008 =N ERE67d  (2) AL IR 2010 = FHE 67 &
(3) A T 2008 M ERH 65T (4) HEAL IF 2010 =0 GFMH 65 9
The children below 18 years are protected by .
(1) section 67B of LT. Act 2008 (2) Section 67B of I.T. Act 2010
(3) section 65B of LT. Act 2008 (4) Section 65B of 1.T. Act 2010
152. 3ligieed SIS an S SR JUW 0SS omhe oG8 Jaoe 1.6, geged 919+ ?
(1) T-J/H (2) SAEH-TH (3) - (4) fEE-mgR
What is the first cloud based tablet PC solution launched in India by Oztern ?
(1) E-tutor (2) alpha-tutor (3) X-tutor (4) p-tutor
153. ICT 2 quiey &1 a7 ?

(1) SeTIA® FHTHRIMA SHos

(2) THIHYE T FERfTRYE FO
(3) eI HEHTE THONT

(4) TIR FHTRIE @]

The term ICT is known as :

(1) International Communication Technology

(2) Information and Communication Technology
(3) Internet Communication Technology
(4) Intranet Communication Technology

HEAT TG W0 /SPACE FOR ROUGH WORK
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154. TR T2 SEfen o 1 T ST | AT SR,
(1) = 2 =
(3) WA (4) fesiem i@
Direct Distance Dialing is one of the easiest way tosetup __ . ___
(1) LAN (2y WAN
(3) MAN (4) Digital Distance

155. U& 3H ITHI], | HAFHF o WG (analog) o €Y (analog) I AHFAAE wIia HT.
(1) FT (2) wer
(3) Trew (4y adeT=H THel R
A device that converts digital signals into analog and back :
(1) Computer (2) Laptop
(3) Modem (4)  None of the above

156. Tk S9 tfymm seiesar s Saede 26 _ &1 A SHTeEEen Sl
(1) smades. (2) HelgeR
(3) X (4) A TR
Media lab Asia’s ontology management tool is known as -
(1) LTS (2) Sahayika
(3} E-tutor (4) none of the above

157. CGI & YIS FEITHe 3eThy AR ¢
(1) | & 913s (2) e FA T A FrIA
(3) TNEHS TR (4) THSURT THS
CGI is Communication Interface between : .

. (1) Computer and browser (2} External system and Web browser

(3) Interface between computers (4) None of the above

158. U fasred) ST9UHE! EIERGHGS
(1) S st (2) UHYIEST ey
(3) oAt At (4) SIS SFEwey
Compressed picture format uses :
(1) JPEG Algorithm (2)  MPEG Algorithm
(3) BMP Algorithm (4) IPG Algorithm

el HIATER I /SPACE FOR ROUGH WORK
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159. TH.ELE.3m. (waR fedieyes 31 sa&aw) ¢ o I IR,

(1) I3 () TFA TE

() VR AU (4) VMG TTETh

FDDI (Fiber Distributed Data Interconnect) is an example of :

(1) Token ring (2) Token Bus

{3) Star Topology (4) Multipoint network
160, 32 9T ama.d. 3H SHOEn WM Td |1 ‘1’ (one) STHEIN @ RN

(1) & =rgs (2) THEE wlewERe
() Todiee siewme (4) TR

In 32 bit IP Addressing scheme all “1’s (one) represent :

(1) the computer (2) directed broadcast
{3} limited broadcast (4) loop back

161.

200 IR 400 944 39 € A% TG ThaE FGual S T ?
(1) 81 (2) 99 (3) 96 (4) 82

How many numbers are there in which digit two comes only once from 200 to 400 ?
(1 81 (2y 99 (3) 96 (4) 82

162.

@WWWWW%@W% 4 fofeeen geor=n favg o™= Fvm w

@.

(ii} (iii) (iv)
(1) 1 2 2 @) 3 4 5

In the given figure, some positions of a die are shown. Which will be the number, on the
face opposite to that marked with 4 ?

(ii) (iti) (1V

(1) 1 @ 2 (3 3 4 5

THOSAT HIWETS AR /SPACE FOR ROUGH WORK
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163. UH MEHIG 4 amEEE GIeAE OF e T o, 3 el U 39 99 faun s,
mwﬁmwwmmgﬁmmm WW Www
M WS w1/ T SEeTE <6 Ha/, W e I,

T« T wEy R

g W e AR

- gHiTen wREE Wi A Aed o

TG G FI0 Y FAT AR A ?

(1) hae & 3 gt e fauree 2) Fuw gt 3 I wien e
(3) Fde M 9 g A= fauriaes (4) STt THE TR

All members of certain Village Grampanchayat have a particular habit. They always
make two statements at a time. One of the statements is always true and the other is
always false. Surpanch declares that he/she himself/herself is a Surpanch. You have
recorded statements of three members and one among them is a Surpanch ?

Ranga :  The Surpanch claims that he or she is the Surpanch.
I am the Surpanch.
Sumi: = I am the Surpanch.
~ Ranga is the Surpanch.
Mutti: I am the Surpanch.
Sumi knows who is the Surpanch.
The real Surpanch can be determined from :
(1) Ranga’s and Sumi’s statements alone (2) Sumi’s and Muttu’s statements alone
(3) Ranga’s and Muttu’s statements alone (4) None of the above

164. TIA P, Q, R, S T 71 et Tq. T UF Vasdl, U Haa S 3 Uk foerd oy, ey
., Pa gt T sfeafeq sria FowiE 1 %30 6. e Sewd T 6 e, RIAP A
TS A O VA A1 IR S A, W At feTE S0 SR 2
@ R | 2 Q
@ T. (4) e wfedel TS SR

P, Q' R, Sand T are persons in a group. There is a farmer, a freelancer and a teacher in

this group. P and S are unmarried ladies and they don’t work. Of the married couple in
~ the group T is a husband. R is the brother of P and is neither a farmer nor 3 freelancer.

Who is the téacher ?

(1) R 2 Q

3 T (4} More information is needed

o1 WIS @ /SPACE FOR ROUGH WORK
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165. T T FHUIE AT STeswl,

P X

() (2) (3) (4)

Find out the figure which does not belong to the group ?

X T X

ey @ 0 @)

1 1 @ 2 (3) 3 4) 4

166. qﬁ%ﬁwwwﬁaﬂma@@ﬁ. T TS TA® Gl Sel STt 4 01 fiesard o
T SAUEE! 2 O HH g, SR Al @ Thed 50 T fuers. @ fad o whede fed
T e W e 2

1) 35 @ 10 (3) 25 (4) 30

In an examination 50 questions were asked. In that examination for every correct answer
4 marks are given and for every wrong answer, 2 marks are deducted. If Kshama scores
50 marks in this examination, how many questions attempted by her were
correct ?

(1) 35 2) 10 3) 25 4) 30

HeHT HIAHEG AT /SPACE FOR ROUGH WORK
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167. (i) A, B,C D, EAF a1 Ha TZHMA! CHTHITd HEIT HATEET sqer 124 o AT
FAA T IR 3T 7.

(i) F IR, S T A =T GUR TR, W B = SElES 3T
(i) D& FHT F T C o SO ST T THHR B FHR AR,
W A = A0 U WS o a9ocl oJekl iV 3ied ?

A
B C
/
E D-i
—F
(1) BaC @) CHaD 3) BAE () EAD

(i} Persons A, B, C, D, E and F are sitting around a hexagonal table for collaborative
work though not necessarily in the same order.

(ii) F, who is sitting exactly opposite to A is to the right of B.
(i) D is between F and C and is exactly opposite to B.
Name the person sitting second next to A ?

(1) Band C (2) Cand D (3) Band E 4) Eand D

168. fedeq sasrdle deart siER WY frag  afamm 2150 =1 freas v 2 750 948 w3
famet. frersm faor 2 500 =01 39 T feen, wfsam fregeer €250 e 52, faet Ia
@Y AiSTaET fae @ S e Fi, T 500 <A1 RS TE A @l ).

1) T 100 (2) T 250 (3) ¥ 350 (4) 500

Choose correct amount of loss in the given transaction.

Sabina sold fruits for ¥ 750 with a net profit of ¥ 150. The customer gave her two 500
rupee notes. Sabina returned < 250 to the customer. At the end while counting the cash
she found that one of the 500 rupee notes is fake.

1)y T100 () T 250 (3) %350 (4) %500

el HTEIS AR /SPACE FOR ROUGH WORK
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169. W& Hihfasw u¥d PERFECT ® 95¢ RGTHGEV 3191 fofgs S|l & g disids Jod

BROWN & v &H] fofeer wEe ?
(1} CSPXO (2) DSQYP (3) CTQXP () DTQYP

In a code language PERFECT is written as RGTHGEYV, then how BROWN will be written
in that code language ?

(1) CSPXO (2) DSQYF (3) CTQXP 4) DTQYP

170. FYT==r=a1 ST HI0d 3781 A5 7

6 4 41
4[N Ll7
510 A
6 10 14 2
(1) Q 2 F (3 Vv 4) H

Which alphabet will replace the question mark ?

171.

6 4 4 1

4 N L7

5] [?]1

6 10 14 2

1) Q 2 F @) Vv (4) H
WSeuH! Hod e/ faum 46 x 98 & IR fasfavas STE o ?

(a)  (100—2) (50 —4) (b) 5000 —400~100+8

(c)  50x100— (400 +100) (d) 3600 +540+320 + 48

(1) W (a), (b) 3 (d) | (2) HH (a), (b) I (o)

(3) HH (a) MW (b) (4) wH (a)

Which of the following expression/s is/are useful to get product of 46 x98 ?
{a) (100-2) (50-4) (b) 5000-400-100+8

() 50x 100~ (400 + 100) (dy 3600+540+320+48

Answer options

(1) {(a), (b) and (d) only (2) (a), (b) and (c) only

(3) (a) and (b) only {4y only (a)
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44 A

T S 3 el 9 7 fuaes O sTRA. Fece dg M W 1 a1 oriag el 98 FerEd
AR T d T [9e0e srudie ardt Saead w1 ?

1 5 7

7
M 5 @ 5 ©) =

)
1 4 13

—

A bag contains 3 white and 7 yellow balls. T'wo balls are drawn from the bag in succession
without replacement. What is the probability that both are yellow ?

1 5 7
1 - 2 17 &) N (4)

|~

e
Ul

173.

fooean e ek lsmera g gai Fivmar 2

faems :

e 400 et AR UEvE™ 50 H6T GFFE.  wHB 500 B2t FaT gEvarE 60 Hehg e
T e SE Hro Y

et

(a) fT, 8 iex ufd g a7 |rad ST & 8,33 |l Wid Hehg aTTH "TEd. WU &I
(b) = A GO ol S Wehd Aal o d T Tt s,

(c) Trften w& diet gy 0.125 %< 30 S UF HIZE @amgE 0.12 e B
(d) AT ST TATS HiE AT 26, et et U] Ul o7

(1) ™ (a) (2)  (a) 2 (o) (3)  (b) AT (d) (4) HH ()

Which of the alternative/s is/are correct ?
Statement :

Nini takes 50 seconds to run 400 metres. Kanu takes 60 seconds to run 500 metres. Who
is faster?” ‘

Conclusions :
(@) Nini runs 8 m per second and Kanu runs 8.33 m per second therefore Kanu is faster.
(b)  Their speeds can not be compared as they have different genders.

(c) Ninitakes 0.125 seconds to run a metre and Kanu takes 0.12 seconds to run a metre.
Therefore Kanu is faster.

(d) Difference between their running speed is negligible and therefore both are equally

competent.
Codes :

(1) Only (a) (2) (a) and (O (3) (b} and (d) (4)  Only (c)

HoeT HIUES A /SPACE FOR ROUGH WORK
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174. WG GEaHTGRd yafa=gr fSHe Rivd g 356 ?
4 7 , 103

"37 12" 7 159

1) 84 @) 20 ) 84 ) 15
Which number will occur in the place of question-mark in the following series ?
3,4 7 o 103

37127 " 15%

100 19 19 9
O o @ 5% ®) 5 @ T

175. W SI5EE {00 oM. o1 9HEis! UF e sauden fafire vgdi o e, W Sves 9w
oo watam e,

(@) POQSR () LQPNM () QPRTS (d) DCEGF
LTS
1 @ 2) (b) 3) (© 4 ()

Five groups of letters are given. One of these groups is different from the rest, in some
way. Find the different group from given alternatives.

(@@ POQSR (b) LQPNM {cy QPRTS (d) DCEGF
Answer options
1) () 2 (b (&) (o) 4 ()

176. TTZEA HAR UM TS TH WA 990 ARG, TS|, B F[AT ST SIS[@ A0 (o1 IofeA sirsje
HHS 3T ?
(1) SAFTEY (2) TEAY
(3) W dEm (4) S

Five children are seated in a row. Raju is seated left of Sanju but to the right of Anju.
Hema is seated left of Anju. However she is seated at right of Unnu. Who are sitting at

the ends ?
(1) Unnu and Sanju (2) Raju and Anju
(3) Sanju and Hema (4) Unnu and Hema

HEAT HEES AT /SPACE FOR ROUGH WORK
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177. H o4 fo@ s yam=a SR SNel 9K §E& R, Yieedn s agwern ne fafgs
FaER q=m weem aa. fagn aded ywdw fax 9. feen 9 aden araee
R oo agade Teeds faaren (7) fommh I ven, e warafis uF o,
NI

3 6 2
@ @ O
2 3 8
1 12 2) 14 (3) 16 (4) 18

There are three circles with four numbers ocutside them. In the first two circles a certain
relationship exists between the numbers. If a similar relationship exists with the third
circle which number should replace the question mark aptly ?

3 6 2
O ONO:
2 3 8

1 12 2) 14 @) 16 (4) 18

178. WSS A9 #1d Th HVE RO, | A1 WS T g ATE STeATH, S we[ et o,
RIS S 8 1 AU UHea] Udh Sfgui= S o 2

(1) god wEE (2) AuiE @) o (4) wg
Pointing to the photograph a man says, “The lady in the photograph is my nephew’s

maternal grandmother”. How the lady in the photograph is related to the man’s only
sister ?

(1) Cousin (2) Sister-in-law (3) Mother (4) Mother-in-law

e HINEET W /SPACE FOR ROUGH WORK
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179. WO IFHdT AT Tufa=re ar Jo we feal

54 45 83
35 38 53
38 14 ?
(1) 63 {2y 62 3y 61 (4) 60
Study the following figure and find out the missing number in place of the question
mark ?
54 45 83
35 38 53
38 14 ?
(1) 63 (2) 62 (3) 61 4y 60

180. M+N ®=v N & M =t gt &,
M-N %" N M 3 98 3.
MxN %= M @ N =t 378 3.
M+ N v M &l N =t 91 318,
M =N = N & M it veit 372,
TS Hifgd=a dAEN “A +B=0" 91 3714 %/ ?
(1) ATO = o AR’. () ATO 9y AR
3) ORAWMFERTWaE. (4 A, BIAO Ko Aiedt gt 7,
M+ N means N is a daughter of M.
M —N means N is a father of M.
M x N means M is a mother of N.
M+ N means M is a mother-in-law of N.
M =N means N is wife of M.
What is the meaning of “A +B=0" on the basis of this information ?

(1) A is mother of O (2) A is mother-in-law of O
(3) Oisnotrelated to A (4) No information about A, B and O is given

THeAT HIWEG S0 /SPACE FOR ROUGH WORK
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181. TEEIH Hv faum/faam Hieasn srhare Fevis amed ?

(a) T ATMEAI el F2d Had diges S0 ATHUN WAK. FIEN F2d A58 S0 g @R, TR
Ha diges ey st fehan sl @Em.

(b) T IURA 99 $2d 9Ige @M. T Fel Fed digeraiad g el sort @, el

(c) U GETEd 378 FTE Dk TR, W Haes =g T, wTdl Haa Hiw! o 27fe g2 74

FCREGIGA
(d) U1 SHIRANG T T AT S,
it I
(1) %R (a), (b) 0 (c) (2) %K (d)

(3) feowm fauritent wwdl et (4) ekt wd faum

Which of the following statement/s, can represent the accompanying figure ?

(a) In one colony some of the families eat rice and nachani only. Some families eat rice
and wheat. All others eat rice and jowari or bajari.

(b) Inone colony all families ear rice. But along with rice some of the families eat wheat
or jowari. Some families eat jowari or nachani. Some families eat bajari.

() In one colony there are some people who drink tea only, some people drink coffee
only and all remaining drink milk.

(d) In one colony everyone speaks three languages.
Answer options
(1) (a), (b) and (c) only (2)  (d) only

(3) None of the given statements (4) All the given statements
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182. TETd A THUIRT 3Tehet FHYvret ?

© @ O

(A) (B) (© (D)

1 A 2} B 3 ¢ 4 D

©/| @@=

(A) (B) © (D)

1 A 2y B 3 ¢ 4 D

183. SIF e UIed AR, fa= sEtwe 135° g7 9 X w9 Q¥R 45° 97 get. AR of agaet
a9 270° T Tooht. AT o RIvAT fe¥iwe Ted STR.

(1) &= (2) dfe=m (3) W (4) TH™

Jane is facing southwest direction. She turns to her left in 135° and then turns 45° in the
same direction. Then she turns 270° in clockwise direction. What direction is she facing
now ?

(1} Northwest (2) West (3)  North (4) Southwest

184. WIHS Hfehd YEATE-2T= Pl 19 A5 7
6, 12, 36, 144, ?
(1) 270 (2) 720 (3) 910 (4) 196

Which number will replace the question mark in the given series ?
6, 12, 36, 144, ?
(1) 270 (2)y 720 (3) 910 (4) 196
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185. FT&! frArft fiwoes fag Mo %0 9 § THel 990, AN diaws] G0 Alfed! M.
() HE T TE Y& 2 FH GeD.
@ &3 fae 3 fue 42 T
(i) & 7 FE Y& 5w @
(iv) & 1 % ta 4 913 qieo.
(v) & 9 TE Qi e 40 oo
W I Ao o fag am 2 T8 fo a i+ wg fohdt wehw foeh ?
(1) T 190 (2) T 19 (3) T 188 4) T192
Some friends collected ripe Chikoos and sat to eat. Following information was collected
from them :
(i) Aru ate 2 less than Naru.
(ii) Niru and Dheeru together ate 42.
(i) Paru ate 5 less than Niru.
(iv) Naru ate 4 more than Niru.

(v) Aru and Naru together ate 40.

If they paid ¥ 2 per Chikoo to the owner how much total amount did they pay to the
owner ?

1) T190 2) T 196 3) T 188 4) T192

186. WIOG FFdra (?) Fara-=srea Arl Fvd! @ 3o ? oo wiaayg fHaet

4] 6] 4]

1y 28 2 72 (3) 38 (4)y 36
Which number will replace the question mark (?) in the given figure ? Select it from given
alternatives.
4] 6] 14]
(1) 28 2y 72 (3) 38 (4) 36
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187. =RY SHwarsl Y% YBEL A, B, C, D, Ed F § 38R oefacdl 9Ra. Jidearsn o
e e .
<A™, <E™ <D™ <F ™
HI W A TS TR fawhefad IR ?
(1) B (2) D (3) F 4 C

On each face of a cube letters A, B, C, D, E and F are pasted. Study the positions of the
cube.

<A™ <E™ <D™ <E™

[zl k=] Iefs] W

Which letter is pasted on opposite surface of A ?

1) B 2y D (3) F 4 C

188.

HEeAER! T Ui 39 $99 R, W I&F ided] Tiods T8 10 7 &9t 9! 9 20
ok T w1 BITAE. 0T WY el Wiiaed Qo= 981 5 3 aeder ® 5 U0 &9 26w,
W MNfeqrEt THo e fhdt ?

(1) 300 (2) 550 (3) 750 4) 900

For a parade, the police were asked to stand in rows. If number of police in each row is
reduced by 10, 20 more rows are required and if the number of police in each row is
increased by 5, then number of rows is reduced by 5. Find the number of police
participating in the parade.

(1) 300 (2) 550 (3) 750 (4) 900

189.

fedea dE-yaede TemiF fasm cHfaes 1e Mess o, § e feden wiaitet uw .
q i

1,3,3,67,9,7,12, 21,15

1 11 (2) 12 3y 13 4) 14

In the given number series one term is missing, shown by (?). This term is given as one of
the alternatives. Find this term.

1,3,36,7,9 712,21, 15

(1) 11 (2) 12 (3) 13 (4) 14
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190. Y2 ''Usd aMgpdt’’ 9 AT EAS! TR, WA SR qIE ARG T SRR g9 faer.

T4
T 1 2 3 4
POND aNO4g di1og DO arior
1 1 (2) 2 3 3 4y 4

A question figure and a plane mirror is shown. Choose the option that shows the reflection
of the question figure, in the plane mirror.

Synonym
Question 1 2 3 4
POND aNO1 aviod DO avor
(1 1 () 2 @ 3 4) 4

191. FEUM faH SHa|E 7 Woe 31 TSR favmmer s
(1) = fomn, siram famn anfor e1o1 fom
(2) oS dhe Srgm, fadia S enfr far fasfta st
(3) 3 famn, |rR fam snftr St fon
4) THowd
General Insurance Business is divided into following three categories :
(1} Motor Insurance, Life Insurance and Fire Insurance

(2) Catastrophic Risk, Financial Risk and Non-financial Risk

(3) Fire Insurance, Marine Insurance and Miscellaneous Insurance
(4)  All the above

192, fauEwEr g S0 Hiar ?

(1) T (2)  THEHEATN YA
(3) et v 4) fom nftraw

Who does the pricing of Insurance Products ?

(1) Surveyor (2) Loss Assessor

(3) Risk Engineer (4) Actuary
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193. T 9TEq faramsd ¢varg Jumrn  wege | =t it fadi foasieaian s ?

(1) 15 fe=™ (2) 30 fga® (3) 4fEm @) 60 fgaw
The validity of ‘Cover Note’ in Motor Insurance is restricted to .
(1) 15 days (2) 30 days (3) 45days (4) 60 days

BO2

194, 3T {97 THHTE0 GoGtH] FI STEH EiwRS! Sd T8 ?

{a) &M (b) IS

(c) 7w Infor 9 (d) IS S0 FEo SiEH

i I

(1)  (a) 307 (d) Fed (2)  (b) 0T (c) B
(3)  (d) FH (4) aHSHF THE TR
Which of the following risks is/are not covered under Fire Insurance Policy ?
(a) Fire (b) Storm

{¢) Riot and strike (d) War and allied perils

Answer options

(1) (a) and (d) only (2) (b) and (c) only
(3} (d)only (4) None of the above

195, WSS v fai Tienten ' sRuTg (aifage!) ae’ o a2

(1) dafws e fom () am famr

(3) HIEeR fam (4) WrY 9e ARy fam

To which Insurance Policy the principle of indemnity does not apply ?
(1) Personal Accident Insurance (2) Fire Insurance

(3) Motor Insurance (4) Marine Cargo Insurance

196. fam sfufrm w4t witd e sufor @n] FHoad 3 ?
(1) 1939 suftr 1 ¥, 1940 WA
(2) 1938 anfor 1 T 1939 A
(3) 1938 3mfr 1 W<, 1939 URHA
(4) 1939 nfor 1 9 1940 WA
Insurance Act was passed and made effective from
(1) 1939 and effective from 1 Sept. 1940
(2) 1938 and effective from 1 July 1939

(3) 1938 and effective from 1 Sept. 1939
{(4) 1939 and effective from 1 July 1940
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197. Sedl o6 ¢

(@) IR s (famr srfufmm) @ 1972
(b) g HEmes sfuftam ' i) 1999
(c) fom frra 5 fowm wfvea sifufaw (it) 1956

(d) weamuRY famr sraEm (T AfufEm (iv) 1938
(@ (B (o (d)

1) @) G @Gv) ()

(2) (v) () @) (5

() @) @v) (@) (i)

(4) () (@) (@) (i)

Match the following :

(@) Insurance Act (i 1972

(b} Life Insurance Corporation Act (i) 1999

(c) IRDA Act (iii) 1956

(d) General Ins. Business (Nationalisation) Act (iv) 1938
(@ () (© @

1 @O @) v ()

(2) Gv) @) @

(3) G Gv) @) )

@) G () @) @

198. HENIE WS form Fre fawm wim wiw sea ?
(1) fomm enge (2) o g
(3) wEfaw 49w (4) wfafEa 990"

Who is the head of the Department of Government Insurance Fund of Maharashtra ?
(1) Commissioner of Insurance (2) Director of Insurance

{3) Joint Director of Insurance (4) Additional Director
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199. W& faar fefien wnemrie SeE S ?
(a) TomT sq=n SArIia SHoe faRr=a s<aTdle TR Y VSIS REEEa] arafao.
(b) WIET M 3 T Wifafusw memes Fiwamet fawarar @€ w9 e o1 Y

T,

et I

(1) () v (2) (b)
3) (a) 3 (b) (4) et R

With what objective was the insurance fund established ?

{a) To save for the benefit of Government the margin contained in the premium charged
by the Insurance Companies.

{b) To reduce the cost of insurance for Government and other undertakings as far as

possible.
Answer options
(1) () only (2) (b)only
(3) (a)and (b) (4) None of the above

200. fomT Toie UM HH HIVGHNG FIVMHST G i STeaws 318 ?
(1) fomn faae o fas™ migw
(2) YT FEEIR Wi
(3) Tl U SEIHUH
(4) o Hee

To act as an insurance agent, the person shall make an application to obtain licence from

(1) Insurance Regulation and Development Authority
(2) Tariff Advisory Committee
(3) Insurance Agent Association

(4) Directorate of Insurance

-o0o-
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HATM — (75 1 961 T )

®) wHYfaened fafem Foear faftre sty &= &0 (T 9%) w00, TeRaseafdie Swarasal 9
I HFCER Fd HIH Hed 4 &I F0ar=H WIH FO AR, I AFS TES I THAR SHEITHIR
A TR Foedt | Tiaimed Ao TRgwR wiisy s sfuftan-g2 7 anie wWEETaR SREE
FUAE WS F SN ! FAG TF TE SRS S0V T8 T g a1 <sre foga
I ER0.

©) T THURFAE s fafed SO0 A U SHEARST € WY Ta:aieR Taeeet
S VA WA AR, AT GO HATETE ATUATgEl SR IeEr S e Hi- 1
HHARIRS 7 faaar W FHIT avas A

. . 201.

. k. 201.

AT 99
H SMET 1T I R A1 Ay JY w2
1) 3 WA @  wifaa g
@) srfavm o arw @ A
T T A S 3) S il aRm o) R, e W T W) (3)" e
AT QIOSTHY T . 201@%8@%“@"%3@@@3@%%@
VIS L.

ONON RO

3TN TEA T WAYfaddie Tde IV qAEl SAGhHih 8 gRel ol Jiaoed
FqufAHelo & & THAHAEEANS Hafid 9g@ [UiTd SEifed S qraaEl. g
wad AT TR AieNT A, UhEe ar yEe i e .
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